Honors Algebra 2							Name _____________________ Solving Quadratic Equations by Factoring			Date ______________ Hour ___

Solve each equation below.  Check your solutions!

Part 1 – If the equation is already in factored form, just use the Zero Product Property to 
              solve.

Example:  							(3x + 1)(x – 4) = 0

		Set each quantity equal to 0.		(3x + 1)  =  0		x – 4  =  0

                    Solve for x in 1 or 2 steps.		       3x  =  -1                 x = 4
            							        x = -1/3
    Solutions are:  -1/3 and 4
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Part 2 – If the equation is in standard form, factor first, then solve.  
             Remember:  1)  Make sure the equation is set equal to 0.	2)  Check for a GCF 

Example						2x² + 2x – 60 = 0
			GCF: Divide by 2		2(x² + x – 30) = 0
                               Factor			  (x + 6)(x - 5) = 0
                               Solve for x			   x + 6 = 0		x – 5 = 0
                                                                              x = -6                x = 5

Solutions are:  -6 and 5
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11) n* +8n=-15 12) 5% —44r+120=-30+11r
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13) —4k* — 8k —3=-3 -5k 14) B> +5b—35=3b
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15) 3rX—16r—-7=5 16) 6b> —13b+3=-3
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17) 7k* —6k+3=3 18) 35k —22k+7=4




image10.png
19) 7x* +2x=0 20) 106> =27b—-18
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21) 8x% +21=-59x 22) 154> —3a=3-7Ta
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1 (k+1)(k-5=0 2) (a+1)a+2)=0
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3) (4k+5)(k+1)=0 4) 2m+3)4m+3)=0
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5) XX —11x+19=-5 6) n”>+7Tn+15=5
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7) n*—10n+22=-2 8) n®+3n-12=6
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9) 6n” —181-18=6 10) 772 — 14r=-7




